

① Ната плус. Дј  $x'sint - xcost = -\frac{sin^2 t}{t^2}$  ог. дан  $x(t) = 0$ .  
 $t \rightarrow \infty$   $\leftarrow$  пуке конусјел учео

I нарун, попуња

II нарун:  $x'sint - xcost$

$$\left(\frac{x}{sint}\right)' = \frac{x'sint - xcost}{sin^2 t} \Rightarrow \left(\frac{x}{sint}\right)' = -\frac{1}{t^2} \int dt$$

$$\frac{x}{sint} = \frac{1}{t} + C$$

$$x = \frac{sint}{t} + C sint, C \in \mathbb{R}$$

$$\lim_{t \rightarrow \infty} \left( \frac{sint}{t} + C sint \right) = 0$$

$\downarrow$   $\downarrow$   
 0      0  $\rightarrow$  једина:  $C = 0$

$$ПР: x = \frac{sint}{t}$$

⑤ Бернулијева Дј

$$x^{1+p(t)} x' = q(t) x^\alpha, \quad p, q: (a, b) \rightarrow \mathbb{R} \text{ неуп. } \alpha \in \mathbb{R}$$

$\alpha \in \{0, 1\}$  - нун

мена:  $y(t) = x(t)^{1-\alpha}$

$$y' = (x^{1-\alpha})' = (1-\alpha) x^{-\alpha} \cdot x' \quad \left. \vphantom{y'} \right\} \rightarrow \text{ЛНН}$$

② а)  $x' = \frac{x}{t} - x^2$

б)  $x' + \frac{x}{t} = x^2 \frac{ln t}{t}$

в)  $tx' - 2t\sqrt{x} = 4x$

б)  $x^2 \frac{ln t}{t} = g(t) | x^\alpha \Rightarrow \alpha = 2 \quad (t > 0)$

$$y = x^{1-\alpha} = x^{1-2} = x^{-1} = \frac{1}{x}$$

$$y' = -\frac{1}{x^2} \cdot x'$$

$$/: x^2 \Rightarrow \underbrace{x' \cdot x^{-2}} + \frac{1}{t} \cdot \underbrace{x^{-1}} = \frac{ln t}{t}$$

$$-1,1 + 1,1 = ln t$$

$$/:x \Rightarrow \underbrace{x \cdot x} + \frac{1}{t} \cdot \underbrace{x^{-1}} = \frac{\sin t}{t}$$

$$-y' + \frac{1}{t}y = \frac{\ln t}{t}$$

$$y' - \frac{1}{t}y = -\frac{\ln t}{t}$$

∴

$$y(t) = ct + \ln t + 1, \quad c \in \mathbb{R}$$

$$x(t) = \frac{1}{y(t)} = \frac{1}{ct + \ln t + 1}, \quad c \in \mathbb{R}$$

6) Пуравайила  $\Delta \ddot{x}$

$$x'' = p(t)x' + q(t)x + r(t)$$

$$, p, q, r: (a, b) \rightarrow \mathbb{R} \text{ не пр}$$

$$p \equiv 0 \rightarrow \text{ЛНН}$$

$$r \equiv 0 \rightarrow \text{БЕР} (\alpha=2)$$

сметам:  $x_p$  - вариационно пр.

$$x(t) \rightarrow y(t): \quad \left. \begin{aligned} x(t) &= x_p(t) + \frac{1}{y(t)} \\ x' &= x_p' - \frac{1}{y^2} \cdot y' \end{aligned} \right\} \rightarrow \text{ЛНН}$$

3) a)  $t(2t-1)x' + x^2 - (4t+1)x + 4t = 0$

б)  $x' = \frac{2\sin t - x^2 \sin t \cos^2 t}{\cos^4 t}$

в)  $x' + x^2 + \frac{4x}{t} + \frac{2}{t^2} = 0$

б)  $x' = -x^2 \cdot \sin t + 2 \frac{\sin t}{\cos^2 t}$

$x_p = ?$

$$x = \frac{1}{\cos t} \rightarrow x' = -\frac{1}{\cos^2 t} \cdot (-\sin t) \rightarrow \text{годен смет}$$

$$x = \frac{a}{\cos t}, \quad a = ?$$

$$x' = \frac{\sin t}{\cos^2 t} \cdot a = -\frac{a^2}{\cos^2 t} \cdot \sin t + 2 \frac{\sin t}{\cos^2 t} \quad /: \frac{\sin t}{\cos^2 t}$$

$$a = -a^2 + 2 \Rightarrow a^2 + a - 2 = 0$$

$$a = -a^2 + 2 \Rightarrow a^2 + a - 2 = 0$$

$$(a+2)(a-1) = 0$$

$$x_p = \frac{1}{\cos t} \quad \left( x_p = \frac{-2}{\cos t} \right)$$

$$x = x_p + \frac{1}{y}$$

$$x' = x_p' - \frac{y'}{y^2} = \frac{\sin t}{\cos^2 t} - \frac{y'}{y^2}$$

$$\frac{\sin t}{\cos^2 t} - \frac{y'}{y^2} = - \left( \frac{1}{\cos t} + \frac{1}{y} \right)^2 \sin t + 2 \frac{\sin t}{\cos t}$$

⋮

$$y' - 2 \operatorname{tg} t \cdot y = \sin t \rightarrow \text{NH}.$$

$$y(t) \rightarrow x(t)$$

$$\text{OP: } \begin{cases} x_p \\ x_p + \frac{1}{y(t)} \end{cases}$$

2)  $x_p$ -Wannion

$$x_p = a$$

$$x_p = at + b$$

$$x_p = at^2 + bt + c$$

⋮

$$3) x_p = \frac{a}{t} \dots$$

Übung: 1  $x(t) \rightarrow x(u)$

$$(4) 2tx''(t) + (1+\sqrt{t})x'(t) - x(t) = t + \sin(\sqrt{t}), \quad t > 0$$

ylbecam uerery  $u = \sqrt{t} \rightarrow \frac{du}{dt} = \frac{1}{2\sqrt{t}} = \frac{1}{2u}$

$$t = u^2$$

$$\frac{dx}{dt} \rightsquigarrow \frac{dx}{du}$$

$$\frac{d^2x}{dt^2} \rightsquigarrow \frac{d^2x}{du^2}$$

$$\rightarrow x'(t) = \frac{dx}{dt} = \frac{dx}{du} \cdot \frac{du}{dt} = x'_u \cdot \frac{1}{2u}$$

$$\frac{df}{dt} = \frac{du}{dt} \cdot \frac{df}{du}$$

$$x''(t) = \frac{d}{dt} \left( \frac{d}{dt} x(t) \right) = \frac{d}{dt} \left( x'_u \cdot \frac{1}{2u} \right) =$$

$$= \frac{du}{dt} \cdot \frac{d}{du} \left( x'_u \cdot \frac{1}{2u} \right) = \frac{1}{2u} \cdot \left( \frac{d}{du} (x'_u) \cdot \frac{1}{2u} + x'_u \cdot \frac{d}{du} \left( \frac{1}{2u} \right) \right) =$$

$$= \frac{1}{2u} \cdot \left( x''_{uu} \cdot \frac{1}{2u} + x'_u \cdot \frac{1}{2} \left( -\frac{1}{u^2} \right) \right) =$$

$$= \frac{1}{4u^2} x''_{uu} - \frac{1}{4u^3} x'_u$$

$$2u^2 \left( \frac{1}{4u^2} x''_{uu} - \frac{1}{4u^3} x'_{uu} \right) + (1+u) x'_{uu} \cdot \frac{1}{2u} - x = u^2 + \sin u \quad / \cdot 2$$

$$x''_{uu} - \frac{x'_{uu}}{u} + \frac{x'_{uu}}{u} + x'_{uu} - 2x = 2u^2 + 2\sin u$$

$$x''_{uu} + x'_{uu} - 2x = 2u^2 + 2\sin u$$

2)  $x(t) \rightsquigarrow y(t)$

$$y = f(x), \quad y' = f'(x) \cdot x'$$

5) a)  $t \boxed{x^2 x'} + \boxed{x^3} = t \cos t$

$$y = x^3 \rightsquigarrow y' = 3x^2 x' \Rightarrow t \frac{y'}{3} + y = t \cos t \Rightarrow y' + \frac{3}{t} y = 3 \cos t \quad (\text{ЛНН})$$

б)  $x' \cos x = \frac{\sin x}{t} - \sin^2 x$

$$y = \sin x \rightsquigarrow y' = \cos x \cdot x' \Rightarrow y' = \frac{y}{t} - y^2 \quad (\text{БЕР, РИК})$$

в)  $x' \tan x + 4t^3 \cos^3 x = 2t$

$$\tan x = \frac{\sin x}{\cos x} \quad y = \frac{1}{\cos x} \rightsquigarrow y' = \frac{\sin x}{\cos^2 x} \cdot x' = y \cdot \tan x \cdot x' \Rightarrow \frac{y'}{y} + 4t^3 \frac{1}{y^3} = 2t \Rightarrow y' + 4t^3 \cdot y^{-3} = 2ty \quad (\text{БЕР})$$

г)  $t e^{2x'} - 2t e^{x/2} = 4e^x$

$$y = e^{x/2} \rightsquigarrow t y \cdot 2y' - 2t y = 4y^2 \Rightarrow y' - 1 = 2 \frac{y}{t} \quad (\text{ЛНН})$$

$$y' = e^{x/2} \cdot \frac{1}{2} x'$$

3)  $x(t) \rightsquigarrow y(u)$

6) Перенумерация:  $\frac{dx}{dt} = \frac{x((\ln x)^2 + t)}{2t^{1/2}}, \quad \begin{matrix} x > 0 \\ t > 0 \end{matrix}$

выбравшие замену:  $u = \sqrt{t}$   
 $y = \ln x$

$$\frac{dx}{dt} \rightsquigarrow \frac{dy}{du}$$

$$\frac{dy}{du} = \boxed{\frac{dy}{dx}} \cdot \frac{dx}{dt} \cdot \boxed{\frac{dt}{du}}$$

$$\Rightarrow \frac{dy}{du} = e^{-y} \cdot 2u \cdot \frac{dx}{dt}$$

$$\Rightarrow \frac{dx}{dt} = \frac{dy}{du} \cdot \frac{e^y}{2u}$$

$$y = \ln x$$

$$\frac{dy}{du} = \frac{d(\ln x)}{du} = 1 \cdot \frac{1}{x} \cdot \frac{dx}{du}$$

$$t = u^2$$

$$\frac{dt}{du} = \frac{d(u^2)}{du} = 2u$$

$$y = \ln x$$
$$\frac{dy}{dx} = \frac{d(\ln x)}{dx} = \frac{1}{x} = e^{-y}$$
$$x = e^y \Rightarrow \frac{1}{x} = e^{-y}$$

$$\frac{dt}{du} = \frac{d(u^2)}{du} = 2u$$

$$\frac{dt}{dt} = \frac{dt}{du} \cdot \frac{du}{dt}$$

$$\frac{dy}{du} \leftarrow y' \cdot \frac{e^y}{2u} = \frac{e^y(y^2 + u^2)}{2u^3} \Rightarrow y' = \frac{y^2 + u^2}{u^2} = \left(\frac{y}{u}\right)^2 + 1 \quad (\text{xom})$$
$$y(u) \rightsquigarrow x(t) = e^{y(t)} = e^{y(u^2)}$$